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INSTRUCTIONS TO CANDIDATES . 	1:1-#4510711 t. -1 	.1. 4vi 
Read the following instructions carefully before you open the 
question booklet. 

w.-t 	-s-Rd-wr Rt-6-4 1 	if 	(4,-1 	-r4----41-- 	cps
question 44 I 

- 

1. 	Use blue/black ball point pen only. There is no negative 
marking. 

c0 I i . 	c. ci ei 	..1) c)/ (me)* 	Grid 	It-0 	49" 	cif 	Wt1),f 
+RIO ‘3c-c-1N1 * 	kiTft-4 TrrWrr '1 	t 1 

2. 	Part I :- MAT : 1 - 90 questions 
Part II :- SAT : 91 - 180 questions 

2. 	1T1-71- 1. 	: 4i1--.  q-1--dl.  : 	1 	— 90 	/R.-I I 
FITT 2 : itiz4 -q-al—is r : 91 	— 180 	51 Y'1 I 

3. 	This test booklet contains 180 questions of one mark 
each. All the questions are compulsory. 	• 

3. *,4-1 m.i 	ftTW' # 180 M '-f 1 	11- 1 t I Tit W-'1.  

* ‘i•rk 	.11 31 	T4 t i 
4. Answer each question by darkening the one correct 

alternative among the four choices on the OMR SHEET 
with blue/black ball point pen. 

4. 	.qF 1-4 A # tr anti   Lch t *161 f4"--FT 	-)" ..1) (4 

I /Ole) (lei tzlt0 tF ThT 1-1qq t V1i-411bc1 c0 

Example: 

Correct way: 

Wrong way: 

Student must 
correct answer 

co) 

\.iqis01 

Q. No. Alternatives Q. No. Alternatives 

1 0 0 • ® 1 0 CD • ® *0 .ut-wr 
Q. No. Alternatives Q. No. Alternatives 

1 0® 00 1 ---r 41ric-1 c) 

,i7N 	f 
0 ED 0 0 

darkening the right oval only after ensuring 
on OMR sheet. 

p . .)-* t.Rtito t *la f4 w-- -,40 	ct,, t  
3* 	) 3TR ITI RUR1In nt c0 I 

5. 	Disparity in mentioning (SC, ST & PH) in application 
form and OMR sheet can make your candidature invalid. 

.2rf 31).  71 3TR t it *If (SC, ST & 
Th7 

5. 	31-r- f 	1:1-  

PH) 	--T 3i -d7 3-171 	ttaTT 4 tiqtqcil 	."). 3T4ZT 
*14)01 t I 

6. 	Students are not allowed to scratch/ alter/ change out an 
answer once once marked on OMR Sheet, by using white 
fluid/ eraser/ blade/ tearing/ wearing or • in any other 
form. 

6. 	EturBch GIN 	 7Tri-71 Tr4-  re-Tuf ‘31-H • -'i 

1* 	3:1-WR 	•01../ 	'.-/ 	ftl-dT4 	clIA 	citcil 	Yc-1 
jef 4WD/ tV-c1-11 T- 11-ft tf lali&I 	TWO' I 

7. 	Separate sheet has been provided for rough work in this 
test booklet 

7. 	4,14 * fa-q• m.-I 7i-ftwi A 31ffi4ci.  poi, u,Ai 

t I 
8. 	*Please handover the OMR 	sheet to the invigilator 

before leaving the Examination Hall. 
*Take all your question booklets with you. 

7ff 31-H 

c 	1 	c, 
15&iT 8. 	*TcEfr 3ti .cr 	q) 	,,L144.0-,i 	6).) 	q 

Nlar- 	c , LR-cild tt ,10 I 
*Tit m.-i ii-R---c311 c, 	31-cr4 TrrzT 	v1141 

9. 	Darken completely the ovals of your answers on OMR 
Sheet in the time limit allotted for that particular paper. 

A- t 

. 

9. 	r4z,Tft yR.-i izr-  

3* . li 3TR 1:T' tR 

Thl-  zR:ret r4ETft tiiief 4 ii I 

Ultiacl cl) 	I 
. 

10. Your OMR sheet will be evaluated through electronic 
scanning process. Incomplete and incorrect entries may 
render your OMR sheet invalid. 

•crn• 3TR-  la 3Trurc 31)-  •ci- 	OcrORct) TEPirtrr uspii wi 

* 3* vii-cii wrz)-Trr 13f0-  
sni 31N tl 	AZT 

ueg Irevf appzrr 31N 
Wq WWel t I 

11. Use of electronic gadgets, 	calculator, mobile etc. 	is 
strictly prohibited. 

4)41 11.  *(,),I-Orcp TjziA tifluici), 11)--0-r-i- 	win-  wr 51  
Till: itAci t I 
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MENTAL ABILITY. TEST (MAT) 

q zkrzr-d-r Eter 

(QUESTION NO. 01 - 90) 
	 *icqii 01 - 90) 

1. The purchase price of 40 cows is equal to the 
sale price of 32 cows. The percentage of 
profit is? 

	

1. 32% 	 2. 25% 

	

3. 20% 	 4. 36% 

1. 40 TITzl 	01M-7 174 32 ITIZI 	itTh7T 

- m T- 	.iftsk t 1 	frli- 	if-t 	t? 
1. 32% 	 2. 25% 
3. 20% 	 4. 36% 

2. In a group of 90 tourists, 25% want to go 
Agra, 20% want to go Mathura, 15% want to 
go Goa, 20% want to go Jammu and rest 
want to go Jaipur. How many tourists want to 
go Jaipur ? 

	

1. 	12 	 2. 	18 

	

3. 24 	 4. 36 

2.  00 	411-1). 	ct) 	qc1 	A 	25% 	3.4TTRT 	u11-11 

-ciii 	#, 	20% 	TITT 	u11-11 	z11() 	g, 	15% 

4 l)cit 	v11.11 	-c116c) 	g, 	20% 	71=1 	v11-11 	-c116c) 

#, 	3ft 	qrtnisi  	--zi-g- 	v1I-11 	z410 	i I 

f+-A" TIF-41zlizjR-  vil-ii -c-116 c) g? 

1. 	12 	 2. 	18 

3. 24 	 4. 	36 

3. Distance between two places A and B is 
210km, Two cars start simultaneously from A 
and 	B 	in 	opposite direction 	and 	distance 
between them after 4 hours is 2km. If the 
speed of one car is less than that of other by 
8km/hr, then the speed of the faster car is? 
1. 30 km/hr 	 2. 21 km/hr 
2. 22 km/hr 	 4. 29 km/hr 

3. - r 	-2•1•T9'r A q B 	- 4'm 	0 210 (4)01tto 

- R-EF # I 	--). 	c.0 A 4 8 3). cCt.) 	v.i 	m'r 	1,ct, 
'1 gThP-IT 0 	4 	Eilq 	q)-1). 

 
a 311=R1 'ER 

-zi-R -r-er 	t, 2 	D)oo 	•4 	 r,  
chit (61 Tit-  vtr cm *r 8 1-410A-0/it.1 ct)4-1 

t, oci c)\.ri -cicl,) 	-ft cm 4 TO-  t? 
1. 	30 1)01t0/iti 	2. 	21 	D)01#0/q'ti 

3. 	22 f4)010/W-1 	4. 	29 1)011110/t1ti 

. 4. --,-1+1- 	then 	? If 1+-35
289 

11 	
17' 

Tft 	=1+2c- 111+2
289 	17 
-
5 	

c161 x=? x = 

	

1.17 	 2.35 

	

3. 	1 	 4. 	18 

' 

	

1. 	17 	 2.35 

	

3. 	1 	 4. 	18 

5. The descending order for -
4 7 3

-
1 

and 
5 ., -9

, 
 5

.
2 	7 

is: 	 # 1. 4 	7 	3 	1 	3 	1 	3 	4 	7 	3 

	

1. ->->->->- 	2. ->->->->- 
5 	9 	5 	2 	.7 	2 	7 	5 	9 	5 
3 	1 	3 	4 	7 	1 	3 	4 	7 	3 

	

3. ->- > - > - > - 	4. = > - ›- >- >- 
5 	2 	7 	5 	9 	2 	7 	5 	9 	5 

. 
4 	7 	3 	1 	3   q 	c•n it7 3-T4ter W=1 g 

. 5'2 	7 

	

-
4 
>-

7 
>-

3 
>-

1 
>-

3 	

2 
	-

I 
> -

3 
>-

4 
>-7 > 

5 	9 	5 	2 	7 	2 	7 	5 	9 	5 

	

3. _
3 

>! > 1  >ft  >1 	4. -
1 
>-

3 
>-

4 
>-

7 
>-

3 

5 	2 	7 	5 	9 	2 	7 	5 	9 	5 

6. How many numbers in between 100 and 300 
are multiples of 17? 

	

1. 12 	 2.6 

	

3. 9 	 4, 7 

6. 100 -ff2TT 300 	4I--- 	itdt 3404T4 *, vi) 

17 chi -41-7 	t? 
1. 	12 	 2. 	6 

3. 	9 	 4. 

7. 
1 

7. 
1 

1 	-? 
1+ 1+ 

1 	-? 

1 
2+ 

1 

2+ 
1 	 . 3+- 
4 

30 	19 	30 20 	
2. 	3. 	4. 1. 

43 	43 	47 	47 

3+-
1 
  

4 
20 	30 	i 9 	

4. 	
30 

1 	2. 	3. .  
43 	43 	47 	47 
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8. A student got twice as many sums wrong as 
he got right. If he attempted 96 sums in all, 
how many did he solve correctly? 

	

1. 32 	 2. 64 

	

3. 16 	 4. 48 

8. -) 123-1 	fa0-4 q79-  Tit 4, \3'H( 	i_t.) 
.17 +I 	ic1 	01 	if 3--- 	ct2„c1 96 	q'' 	> c'l 

o f -To--4 AV9- 3Ter fV 

	

1. 	32 	 2. 	64 

	

3. 	16 	 4. 	48 
Direction : In question 09 to 13, find the missing 
term of the series : 

n 

---P-TM 

i : H.-i 09 — 13 # dl q 1-GFT # ft4Ti.  
ct,) 117-4 	.4vi-c1 fo-T---o:r 	:- 

9. 2, 10, 26, 50, 82, ? 

	

1. 	132 	 2. 	122 

	

3. 	100 	 4. 	112 

9. 2, 10, 26, 50, 82, ? 

	

1. 	132 	 2. 	122 

	

3. 	100 	 4. 	112 
10. 5, 19, 41, 71, 109, ? 

	

1. 	145 	 2. 	155 

	

3. 245 	 4. 	156 

10. 5, 19, 41, 71, 109, ? 

	

1. 	145 	 2. 	155 

	

3. 245 	 4. 156 
11. 3, 11, 27, 51, 83, ? 

	

1. 	133 	 2. 	131 

	

3. 123 	 4. 233 

11. 3, 11, 27, 51, 83, ? 

	

1. 	133 	 2. 	131 

	

3. 	123 	 4. 233 
12. 5, 9, 15, 23, 33, ? 

	

1. 45 	 2. 55 

	

3. 25 	 4. 56 

12. 5, 9, 15, 23, 33, ? 

	

1. 45 	 2. 55 

	

3. 25 	 4. 56 
13. 10, 18, 28, 40, 54, 70, ? 

	

1. 70 	 2. 75 

	

3. 88 	 4. 65 

13. 10, 18, 28, 40, 54, 70, ? 

	

1. 70 	 2. 75 

	

3. 88 	 . 	4. 65 
14. In a class of 40 students, the rank of Mohan 

is 19th from the top. What will be Mohan's 
rank from bottom? 
1. 20th 	 2. 21st 
3. 22nd 	 4. 23rd 

14. 40 F4EfTrOzft c - ail-  # 1:1Y-69" 	7-2-1T9" 	-1-,R tr 
194f * I T5Tf A-  Tir--9-  m—r 41-,) tr 7-21Tff t: 

	

1. 	20.4t 	 2. 	Zit- 

	

3. 	22 IT 	 4. 	23.4f 
15. Sita takes some flowers in a basket and visit 

three temples one by one. At each temple 
she offers one half of the flowers from the 
basket. If she has four flowers at last temple, 
then the number of flowers, she had in the 
beginning ? 

	

1. 32 	 2. 	12 

	

3. 34 	 4. 24 

15. tic T Bch z- m--tr A Ty tvi --011 . 2..TT 
0)-1 -4=tft4 4 	)—ct) ct-p 	-r-et * I w-?)--- 
Ttft 	4 cl 	z)-----t ci) 31-0 vi 	--d-rth ti 
TA-  31Th:f Tif-N- 14 3+1.--  41*1 4 
* cI) -U-€31-1.ff 4 .uR1---  lik-i f+--o-4 iv 0 ? 

	

1. 	32 	 2. 	12 

	

3. 	34 	 4. 	24 
16. Rakesh and Suresh, both were born in the 

month of May. Rakesh was born on Tuesday, 
16th May. Suresh is 11 days younger than 
Rakesh. On what day, Suresh born? 
1. Sunday 	 2. Monday 
3. Friday 	 4. Saturday 

16. 1tqT 3Ntt'41-, 	q1,11 	v-1-4-1 4 li # p-TT 
2,111 	71---c4T 	-iileiciN 	16 	1-i4. 	ch) 	v1-4-I -111.  
2,111 *Tr 	1.t.Trm'-4 	11 f 	u)—d-r tH OT 
c-Pl vi-ii ftri F(.1 pff 21T? 
1. 	7fd-q-F 	 2. 	*111-lci k 
3. 	p---4TR 	 4. 	e-s ciN 

17. If 5 spiders can catch 5 flies in 5 minutes, 
how many flies can be caught by 100 spiders 
in 100 minutes? 

	

1. 100 	 2. 500 

	

3. 1000 	 4. 2000 

17. zift 	5 	}X.1541 	5 	ftr9z 	4 	5 	4-1( 	_ii 

t-ict). 	* 	.'r 	100 	4-14)W 	100 	ftr9z 	# 
ft-dt 1-liV-rl 4c4) 	1.--t—dt *? 
1. 	100 	 2. 	500 
3. 	1000 	 4. 	2000 
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18. Three pipes A, B and C can fill a tank in 6 
min., 8 min., and 12 min. respectively. The 
pipe C is closed for 4 min. before the tank is 
filled. In what time would the tank be fill? 

18. cl),1 ITT-47 A, 	B 3117 C 	') 80) 	ct)) st-)4M: 6 
-1:1-9Z 	8 fkqz A-  12 #19-E # 
t I 	7-147 	C 	c.1.)) 	8ct) 	1-w4 	4 	-1249Z tl----- 

2 3 .-- minutes 	2. 	4 	minutes 
7-{#7 # Bch

1. 
Giq 	(1-> 	-ftzrr until t", t f -dt 

9 	 7 117 vIN4 11? 

3. 5 1  minutes 	4. 	3minutes l' 1. 	3 5I:49Z 2. 	4 	f49Z 
-7 7 9 

3. 	53  

7 

f9Z 	4. 	3-2  f:49-E 
7 	 7 

19. ABCD is a rectangle. Find x ? 19. ABCD G101311? L  r) 311-zra t I x Th-T 411-1 
D C D C  

162-3x 
4111i 

62 - 3x  1 
41. 

A B A 
2x B 

1. 54° 	 2. 36° 1. 54° 	 2. 36° 
3. 24° 	 4. 18° 3. 24° 4. 	18° 

20. In the given figure, BOD is a diameter of a 20. -r47 +N -1 ---- -44, 	BOD 	1-c1 	--T arRi t .Q.-TT 
circle with centre 0. LCOD = 92° and LABD * I ZCOD = 92°  317 ZABD = 65°, c).- 	0 
= 65°. Then y equals to 

(-10 y 	ct)I +-II-I  	t I 

B AR D 
A140 11 sim  

A 
NiltIW WirC 

B 	D 

1. 65° 	 2. 46° 1. 65° C 	2. 46° 
3. 44° 	 4. 21° 3. 44° 	 4. 21° 

21. The calendar for the year 2007 will be the 21. ,-11 2007 	0)1 	cf\>c)u.S, 	1.4-.1WZIcl it7:1 cl 
same for the year : -I .7 	•0 411-1 	)4 11 	:- 
1. 2017 	 2. 2018 
3. 2014 	 4. 2016 1. 	2017 	 2. 	2018  

3. 	2014 	 4. 	2016 

22. In a dairy, If 40 cows eat 40 bags of husk in 22. k;ct) 	tf 	CW114 #, 	40 	4i iz4, 	40 	1-1 	1, 	40 
40 days then in how many days, one cow will tt zikr _qt wth *, t -itff-4 f<91 # 	? 
eat one bag of husk? - 71-Pr? 4 1 lq, 	C-t) 	ttt -c4kr 	i 
1. 	1 	 2. 40 1. 	1 	 2. 	40 
3. 20 	 4. 26 3. 	20 	 4. 	26 

23. In what ratio, water must be mixed with milk 23. 12 	-1:1-4- 	rg-i . 	Af-d7 	Itl. 	T1T2T 	LETt 
costing 	'12 per litre in order to get a mixture 1 .79-  3171d. 14 	1- c,11Lil 	\TIN 	-Mft 	8 	T1:14 
worth of Z8 per litre? 
1. 	1 : 3 	 2. 	2 : 3 ;tit 	hcbi f#31-Err ftr-F 	,r? 
3. 	1 : 2 	 4. 	3 : 1 1. 	1 : 3 	 2. 	2 : 3 

3. 	1 : 2 	 4. 	3 : 1 

24. If the number 5 * 2 is divisible by 6, then 
* = ? 

24. tift t1911 5 * 2 Triff: 6 tft.4-11t .  *, 
* = ? 

1. 	2 	 2. 	7 1. 2 	 2. 7 
3. 3 	 4. 6 3. 3 	 4. 6 
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25. 	A can run 224 metres in 28 seconds and B in 
32 seconds, By what distance A beat B? 
1, 36 metre 	 2. 24 metre 
3. 32 metre 	 4. 28 metre 

25. 	A, 	28 3--13-- 	A -d-2.4 B, 	32 3)-Wcr 	4 224 

-0 AZ-3 	)5 flc-t)c11 t I -it-d-41- 	3)-  A, 	B ct)) 

4 11c1 	4 11?  
1. 	36 -4rd3 	 2. 	24 Tir-d-3- 
3. 	32 it-d- 	 4. 	28 TTI-d-3 

26. 	In a game 'A' can give 'B', 20 points out of 60 
and to 'C', 18 points out of 90. How many 
points can 'C' give to 'B' in a game of 120? 
1. 	20 points 	 2. 	30 points 
3. 	40 points 	 4. 	18 points 

--- 31I 26. \ict) 4-6-  4, 	'A', 	'B' 	ct) 	60 f4 4 34 20 

R-- 	-- 	flc1)(11 	* 3tY3 	'C' 	(401 90 f4-- 34)-  4 
-3) 	18 fo- 	fl(pcit 	t 1 	120 f4- 341-  4 T1 
'C' 	f ---a 	f'4- 	'B' 	ct))- 	• -ict)(-11 	t? 

1. 	20 	14 	 2. 	30 

3. 	40 40 F4-- 	 4. 	18 R--- 

Direction : Find the odd one out (27 & 28) ---6-r 	-T)-  -ft-471 : 1 4---11%c1 s04 	'ii 	f4 -  t, .3s1 
1lc1 	(.r) 	(27 	T 28) 

27. 12, 21, 32, 45. 60, 77, 95 

	

1. 	60 	 2. 	95 

	

3. 	32 	 4. 	21 

27. 	12, 21, 32, 45, 60, 77, 95 
1. 	60 	 2. 	95 
3. 	32 	 4. 	21 

28. 	2, 5, 10, 17, 26, 38, 50, 65 
1. 	50 	 2. 	26 
3. 65 	 4. 38 

28. 	2, 5, 10, 17, 26, 38, 50, 65 
1. 	50 	 2. 	26 
3. 65 	 4. 38 

Direction : Complete the series (Q.29 to Q.30) f41 : 53.SFM VI' c.0 (g79-  29 4 30) 
29. 	4, 10, ? , 82, 244, 730 

1. 26 	2. 	28 	3. 	40 	4. 48 
29. 	4, 10, ? , 82, 244, 730 

1. 26 	2. 	28 	3. 40 	4. 48 
30. 	78, 64, 48, 30, 10, ? 

1. 	-12 	 2. 	-14 
3. 	2 	 4. 	8 

30. 	78, 64, 48, 30, 10, ? 
1. 	-12 	 2. 	-14 
3. 	2 	 4. 	8 

31. 	In a group of ducks & cows, the total number 
of legs are 28 more than twice the number of 
heads. Find the total number of cows? 
1. 	16 	2. 	12 	3. 	14 	4. 	8 

31. 	EIT.R.q 	4 	41124 	* 	--) 	317 4, 	tt4n. 	(61 	(1),Q1 
,d.cq-11, fti--4 4 	•-i_q-it 	c 	q14,0 3)-  28 3T-R1--  

t I -TT1-41-  4 	ct3e-f s-kszil 4-d-Tt' :- 

1. 	16 	2. 	12 	3. 	14 	4. 	8 
32. 	A fort has provision of food for 150 men for 

45 days. After 10 days, 25 men left the fort. 
The number of days for which the remaining 
food will last : 
1. 29 	2. 	38 	3. 	54 	4. 42 

32. 	(.4-) f$-- 	14 150 	a-IWM). 	-1 --q-  45 ft9- 

)1 -9)-  7-IT-- 	cr>1 	VT4U-H- 	t I 	10 	4-1-q-, 	25 

c241 -c-R1 	-4 	----a- 	Y5)--- 	ftEfr I 	3T-4 	(1-(41 	g3IT 
li)- 	f+-0-4 ft910(t) zief LIN,11:— 

. 	29 	2. 	38 	3. 	54 	4. 	42 
Direction 	: 	The 	following 	diagram 	shows 	the 
marks obtained by five students A, B, C, D, E in 
mathematics. 
Answer 	the 	question 	33 	to 	37 	according 	to  
following diagrams : 

ik-4--14T : R 4-11*1(-1 	q A -A .4 -orm -E5T---  A, B, C, 

D, E gi3T TA-a 14 V-1-1-  3i--1-  cf)) ft€fITIT 4 l'111 t I 

-eit 	A-:4 Wa-  ' -kq1 I 	33 3)-  37 	Oct) 	c-N 	_ 
3M13 Lk 	:— 

100 
80 
60 
40 

0 
20  

70 	
80 	90 

50 	
60 

Xe' 

100 
80 
60 
40 
20 
0   

80 	90 

60 
SO 

"' 

i 

.k A 	B 	C 	D 	E 5 A 	BCD 	E 

"E3T- ►  Stu • ents 	 ►  
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33. 	Average marks of five students is : 
1. 70 	 2. 50 
3. 75 	 4. 60 

3T  ch I 

	

2. 	50 

	

4. 	60 

: -I 33. L4 -ci -'65Tt o, 'gruff 

	

1. 	70 

	

3. 	75 

3TU t 

34. 	Mean of marks obtained by B and C is what 
percent of C's marks? 
1. 120% 	 2. 65% 

34. B 47 C C ct ch 	q I kl I cr)).  ch1 	liTZTf, 
*? 

mik-dico 
cot f+---d-91-  5•IfIc1 

3. 130% 	 4. 140% 1. 	120% 	 2. 	65% 
3. 	130% 	 4. 	140% 

35. 	Who is obtained 75% of marks of B's marks? 35. B t t? M ILO ich 	chl 75% q !Mich f+-71---  
1. E 	 2. C 1. E 	 2. C 
3. A 	 4. D 3. A 	 4. D 

36. Who is obtained 111% less marks than D? 36. 	D t HI% *? c+-I z eil.) 1101 	cr>--1 
9 9 

1. A 	 2. C 1. A 	 2. C 
3. E 	 4. B 3. E 4. B 

37. 	Ratio of highest to second lowest is: 37. 	3-1t1W-dli 3117 3-i-4-  Ohl q\•(-1 	(4-.1c11-1 317Tff 

1. 	6 : 4 	 2. 	2 : 3 t: 

3. 	9 : 5 	 4. 	10 : 18 

	

1. 	6 : 4 	 2. 2 : 3 

	

3. 	9 : 5 	 4. 	10 : 18 
38. 	If cost of a mobile is ZP after two successive 38. 	20% 3ItR.  25% * '41-q -1#- 	"US 	cf) 	Tli  

reductions of 20% and 25%, the original price T- 6) 0)  . 	----41- 	-45m-r-4-7  'p Tfff z  T)-41--0* 

of the mobile is : 
t TIF . 1-4=1-ff 

1. Z 3P 2. Z 3P 
1. 	Z 3P 2. Z 3P 

2 5 
2 

5P 
5 

24P 3. Z 5P 4. Z 24P 
3. Z 4. Z 3 25 

3 25 
Direction : Find the missing character / number in : W3-9-  39 t 40 # ft-ft -k,q..11 UTf clu1/31 
question number 39 to 40 : wIlci Thitr" 
39. 39. 

81 	1 	 10 	144 81 	1 	10 	144 

40 40 

25 ? 25 	 ? 

1. 324 	 2. 50 1. 324 	 2. 50 
3. 256 	 4. 196 3. 256 	 4. 196 

40. 12 17 14 12 40.  17 14 

8 48 12 102 14 ? 8 48 12 102 14 ? 

1. 56 2. 98 1. 	56 2. 98 
3. 196 	 4. 84 3. 196 	 4. 84 

41. Pointing to Chirag, Anup said. "he is the son 317 41, 	f4R-TTT co 	-R-cF tc4TTRT c,t-  ch6c11 
of only daughter of my mother". How is Anup It c6) "cl t 	#tr Th--&01. -4th cot *-d-r t" I 
related to Chirag? 
1. Uncle 	 2. Son ?  3r-lcr fr -Tr-f cm 

3. Father 	 4. Brother 1. 	411411 2. p 
3. 	fefffT 4. 	'4-TT 

42. What comes next? 42. 311T7T liq 	crzil 	)4 11? 
AE, El, 10, ? AE, El, 10, ? 
1. MN 	 2. DE 1. MN 	 2. DE 
3. OU 	 4. UY 3. OU 	 4. UY 

Page 6 of 24 



43. 43. 'APPLE' is coded as 'BOQKF', in the same 
language 'MANGO' is. 
1. NBPDP 	 2. NZOPF 
3. NBOFQ 	 4. NZOFP 

44. 44. Find the odd one that does not belong to the 
group. 
1. Huge 	 2. Tiny 
3. Heavy 	 4. Small 

2. Purse : Money 
4. Mirror : Glass 

46. Chair : Wood : : 
1. Plate : Food 
3. Book : Print 

51. 51. 

.1cON 'APPLE' ct)) 'BOQKF' 

ftTIT 4 Iq1 	WA-  ITTEfT -4 'MANGO' 5T co) 

6) 4 11 I 
1. NBPDP 	 2. NZOPF 
3. NBOFQ 	 4. NZOFP 

31-7 	 co) 

TfKfkm t 

1. fftzrrF 	2. 

3. '1Ttt 	 4. EitdT 
45. Find the number that is wrong in the series. 

1, 2, 4, 7, 11, 15, 22, 29 

	

1. 4 	 2. 15 

	

3. 22 	 4. 11 

45. 3311-  # 4 1 rid 	(-0) '651t7 I 
1, 2, 4, 7, 11, 15, 22, 29 

	

1. 4 	 2. 15 

	

3. 22 	 4. 11 
Direction : Select the related pair that has the 

same relationship as the original pair has 
: 	 co) 	Rykiu), ugl 

1(- 441 	*1  

46. Vi : 	: : 

1. 	1)Z.  : 	I 	2. 	61 

3. ftd1-4 : 13TIT 	4. du : cOIT-1 
47. Y is in the East of X which is in the North of 

Z. If P is in the South of Z, then in which 
direction of Y is P? 
1. North 	 2. South 
3. South-East 	4. None of these 

48. Six persons are sitting around fire facing 
each other, Laxman is at the immediate left 
of Suhani. Hitesh is at the immediate right of 
Sonu. Suresh is between Ladli and Sonu. 
Sudhani is the immediate left to Ladli, Who is 
sitting between Suhani and Suresh. 
1. Hitesh 	 2. Ladli 
3. Sonu 	 4. Laxman 

47. Y, x 	 \3!l 	f P, 
z -04Err -4 - ryc6lit--eforr#Pt- 
1. .3-k-N 	 2. 

3. -eUtlf-ti,4 	4. T-14- 	ct))4 	gi 

48. 'ET: wror 31-Fr 	3 	u t I cY&-4:1-ur, 
1Q,13(-1 .uN t 1 -rd-vr, 	 
	 uN t I 	r; c 	3i 

	

t 1 T6rt, 	Rc,t;(1 GIN t 
-ffut3i 	T 	451) -(4 ct1-1 t3T t 1 

1. 1t0-zr 	 2. 

3. 	 4.r 
49. Arrange the following words in a logical and 

meaningful order. 
1. Sowing 	 2. Harvesting 
3. Storage 	 4. Irrigation 
1. (1), (4), (3), (2) 	2. (1), (2), (4), (3) 
3. (2), (4), (3), (1) 	4. (2),  (4), (1), (3)  

Direction: In questions 50 to 52, figures are given. 
Numbers follow a certain pattern of rule. You are 
required to analyse the given figures and then to 

I write it agianst appropriate question mark (?) 

49. ski cO) 	 Trr0--- cP 1 	k3-11 
1. 5-u-r 	 2. ct)tI 

3. I-T-RuT 	 4. fZi-41- 
1. (1), (4), (3), (2) 	2. (1), (2), (4), (3) 
3. (2), (4), (3), (1) 	4. (2), (4), (1), (3) 

fk-47T : 	*Itcz11 50 tf 52 Oct) 3TT-Tftzif 	,I4 
f 	col 41d.-1 

3Trur--sr tt 	 fe)tioi 	 
(?) 	2.Trff 	• -1:'4ff \qtcui 	&It l  	t 

50. 
4 

36 

9 

13 

50. 4 

36 

9 

13 

1. 30 	2. 18 3. 24 	4. 12 1. 30 	2. 18 3. 24 	4. 12 

1. 13 	2. 30 3. 18 	4. -30 1. 13 	2. 30 3. 18 	4. -30 
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52. 52. A pi" fai  
•% 0 	100 

• 3375 	
h  100 

	

1. 6464 	 2. 2856 

	

3. 4268 	 4. 5832 

	

1. 6464 	 2. 2856 

	

3. 4268 	 4. 5832 
53. If the code of word 'SHARP' is 58034, 'PUSH' 

is 4658, then the code of 'RUSH' would be. 
t 3658 	 2. 5846 
3. 8546 	 4. 6583 

53.  Ilk f+--41-  VI TAT # 'SHARP' cr)) 58034, 

'PUSH' 	cr)) 4658 it-tic71 'RUSH' cr)) VI 
.1 -zErr 	viN,III 
1. 3658 	 2. 5846 
3. 8546 	 4. 6583 

54.  If the bacteria in a lab jar doubles every day 
and the whole jar in filled with bacteria in 30 

days. How long would it take to fill. 	
1 	of it. 
4- 

1. 10 days 	 2. 15 days 

3. 28 days 	 4. 29 days 

54. LIR f+--Al-  \YIN # .;)4cr1PLi1 R-:),m R-1 s'i.) 
6) t 3117 1-kl \YIN 30 R-I # 1-17 yin 

er 	-1-  vik 	--r 	i #rrr ft-d-4 RtI - 	# li-R-r 
4 

6)4II I 

1. 	10 R-t 	2. 	15 RI 
3. 	28 	-1 	 4. 	29 f 	-i 

55. In a row of students Arpit stands r from 
beginning and 22nd  from last. No. of students 
in the row is. 

	

1. 27 	 2. 28 

	

3. 29 	 4. 30 

55,  ff-arfORt chr) 	t;ct, ri-f4f.  4 3ifild' 3IT4 t 7-4 

P-Trff 1TR" 4 311ftF * 22t 	ll'9.  TR t I 
2̀1-  1411 -4 f4-aff0711 	tit-Q1I t I 

1. 	27 	 2. 	28 

3. 	29 	 4. 	30 
56. The number which will come next in the 

series 88, 44, 11, 	is 
56. 401). 	88, 	44, 	11,  	# 	zTr-4 	qr-4r 

arTrt *1t411 . I 

	

3 	 11 
1. 	2 - 	 2. 

	

4 	 16 

3. •1 	 4. 	1-
3 

8 

	

1. 	2 	 2. 	11 

4 	 16 

	

3. 	1 	 4. 	1-- 
8 

57. The number that does not follow the pattern 

of series series 2, 3, 5, 8, 15, 21, 34, 55, 	 is 

1. 	3 	 2. 	21 

3. 15 	 4. 34 

57. 2, 3, 5, 8, 15, 21, 34, 55, 	 4' 
*It-qi 1 chl -I At t 	4Erit * 3TT fktrli 

34--1-TR-urr -0 mR-tr - 

	

1. 	3 	 2. 	21 

	

3. 	15 	 4. 	34 

58. There are three words in questions which are 
some how of same group. Choose the word 
from given options which is of the same 
group. 
Iron, Copper, Gold 
1. Manganese 	2. Bronze 
3. Coal 	 4. Fossil 

58. 9-1 # 	-1 , isq R?.) irc * 4r f+--et itct.)K 

.)tt .R:FIttf TI RFr-TTEft tI 	Ti7 
Rcpoi -4 tr 	i.s< 	f Tim f'+- 

--4t Try tr 	Tic * I 
c1)61, 	ciiqi, 	=i'r9-r 
1. 	Ji 	vi 	 2. 	chit!! 

3. 	-'1717T 	 4. 	aclIvi 

59. A blue coloured cube is cut horizontally and 
vertically in order to get 8 identical cubes. 
How many faces of each cube will be 
colourless. 
1. 2 	2. 3 	3. 4 	4. 5 

59. Bch 	-1)(,) 	#r 	IEF 	r.b) 	ard-- • q 	di-Glici 

,t-i 	Act) k cil I e I 7T4T * fP 8 ri EF MIt-c1 

t 	\YIN I 	.4-1 	itcm 	wItct .cf-- T 	EI-9' 	t 

ft-T4 th-d--  71Tek 6)? 
1. 2 	2. 3 	3. 4 	4. 5 
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Directions (Q. 60 to Q. 62) A series of alphabets 
is given 	in which 	some alphabets are missing, 
choose the answer whose alphabets in order suits 
best in the series. 

fkbT : 	NO-R-40 	60 	62 	dcb) 	3Ta-1-- 	't 	c.t-) 	,311111 
41. 	t I 	f -i-4 	TT 	3Ta-TR- 	41 RN 	* I 	ci 	,c-R  

-4--I ci\-) 31. 	W171 14 4ult ct ft,riR .3t-iTh1 t 1 

60. 	a 	bc 	a 	b. 
1. aabc 	 2. cbcb 
3. acba 	 4. cabc 

60. 	a 	bca 	b. 
1. aabc 	 2. cbcb 
3. acba 	 4. cabc 

61. 	ab 	ca 	be _bbc 
1. bbc 	 2. abc 
3. aac 	 4. bcc 

61. ab 	ca 	be 	bbc 
1. 	bbc 	 2. abc 
3. aac 	 4. bcc 

62. a 	bc 	a 	cc 
1. abca 	 2. caba 
3. bcab 	 4. acab 

62. 	a 	b 	c 	a 	cc 
1. abca 	 2. caba 
3. bcab 	 4. acab  

63. 	Write the order in which following words will 
appear in in dictionary. 
(A) Science 	 (B) Scene 
(C) Scenic 	 (D) Scientist 
1. CBAD 	 2. BCAD 
3. CBDA 	 4. BCDA 

63. 	ci6 	1=f 	-1 	1 -R-1-4 	r- 4-.-iWZA0 
1,G, 	ci-) 	-4 f6-81 vi N-4) I 

(A) Science 	 (B) Scene 
(C) Scenic 	 (D) Scientist 
1. CBAD 	 2. BCAD 
3. CBDA 	 4. BCDA 

64. 	A man walks 6 km. towards east. He takes 
right turn and walks 3 km. Now he turns back 
and walks 11 	km. How far is he from his 
initial position? 
1. 10 km 	 2. 8 km 
3. 12 km 	 4. 7 km 

64. 	pct-) arr47(1-  6 f04-1)0 V Thri-  3N' uilcil * I 	cI6 
7-1:F 	TF, -d-, 	T 	* 	3-1)7 	3 	f04-1)0 	\311c11 	t I 

3TO cI6 41f4-ff 4dtc 	11 fi \TIM' t 1 31-4 
c-46 31-cit VRft1-1- 	ft-/-1 	.R-4 ft-dt V t I 
1. 	10 f0-1:110 	2. 	8 ft04)0 

3. 	12 -12 01-1)0 	4. 	7 ft04)0 
65. 	In English alphabets, 	18th consonant from 

second consonant from last is 
1. C 	 2. 	D 
3. A 	 4. 	B 

65. 	34-4)-- 	014-Urn 	# 3111R 7). 	clsi 	c2-1\5-1-1 	t 
18cli 	cLiu1-1 	* I 
1. C 	 2. 	D 
3. A 	 4. B 

Direction 	: In the following problems equations 
have become wrong due to wrong order of signs 
(+, -, x, ÷, =) signs (Q. No. 66 to 68). 

1gr : ffi-lzr ,w-)cmun 	t  (+, -, x, +, =) .- f':--- 
.. 	,ic,.ici 	..w171- 	4 	ci \ji6 	fl4-1)cf-)Ur 	41c40 	0 	,q 

t IRTer Wil. 	ffT31) NO - 1'0 66 t 68 (-I cP) 

66. 	45 + 9 - 3 = 8 
1. 	+, -, = 	 2. 	+, +, = 
3. 	+, x, = 	 4. 	x, +, = 

66. 	45 + 9 - 3 = 8 

1. 	+ 	-, = 	 2. 	+, +, = 
3. 	+, x, = 	 4. 	x, +, = 

67. 	19 x 5 + 6 = 18 
1. 	+, x, = 	 2. 	x, -, = 
3. 	+, +, = 	 4. 	+, -, = 

67. 	19 x 5 + 6 = 18 

1. 	+, x, = 	 2. 	x, -, = 
3. 	+, +, = 	 4. 	+, -, = 

68. 	14 + 2 + 11 = 17 
1. 	x, -, = 	 2. 	+, -, = 1. 
3. 	+, +, = 	 4. 	+, -, = 

68. 	14 + 2 + 11 = 17 

x, -, = 	 2. 	+, -, = 
3. 	÷, +, = 	 4. 	+, -, = 

69. 	Arrange 	the 	following 	in 	increasing 	order 
according to their meaning and choose the 
correct options. 
(A) Forthightly 	(B) Weekly 
(C) yearly 	 (D) Monthly 
(E) Daily 
1. EABDC 	 2. AEBDC 
3. EBADC 	 4. ABCDE 

69. 	f[ ct)) \3-1ct',  3T2-ii * 31iR .q7d-. 	Wff 

-34 WaftP" cl-) 	3N Tit -rz. -q.) 

(A) 	LITrUT 	 (B) 	-11,-c-Incr) 

(C) 	qrfil--- 	(D) 	iirf#-T.  
(E) 	5.1101.-1 
1. EABDC 	 2. AEBDC 
3. EBADC 	 4. ABCDE 
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Direction for question no. 75 to 78. In the given 
square sum of the rows and columns is given. 

A A C C 32 

A B C D 25 

B B D D 18 

B D D D 13 

24 21 26 17 88 

70. Ammeter is related with current as odometer 
is related with. 
1. Smell 	 2. Blood pressure 
3. Speed 
	

4. Earthquake 

Instructions for Q. No. 71 and 72. Choose the 
figure which is different from the rest. 

70. f 	Mcbk crizAteR cbi 	 NU 34 t 
H-dt qcok 	 cpr 

1. TEU 	 2. Tit 
3. z4lri 	 4. 7-1Tht  

471 :ql-Tff *A I 71 r 72 	f -qt 
\3fl 	 TT Q11 3TR:if 	1 

71. 71.  

A 
	

B 	C 	D 

1. A 
	

2. B 
3. C 
	

4. D 

A 
	

B 	C 	D 

1 . A 
	

2. B 
3. C 
	

4. D 
72.  72. 

1. A 
3. C 

2. B 
4. D 

1. A 
3. C 

2. B 
4. D 

Instructions for question no. 73 to 74. Choose the 
mirror image of main figure from four alternatives 

73. Main figure 

Alternative figure 

(A) 	 (C) 	(D) 
1. A 	 2. B 
3. C 	 4. D 

fk-4-vr : AO .#0 73 f 74 	f0-q' I 'Ijr 3TrT-1 col 

	

qfeozr f47 41q.  zik fcpetiI 	 
73. ITC04 3ff-fit 

eaw-zr fur 

(A) 	 (C) 	(D) 
1.A 	 2.B 
3. C 	 4. D 

z 

74. Main figure 

Alternative figure 

EME 
(A) 	B) 	(C) 	(D) 

1. A 	 2. B 
3. C 	 4. D 

74. 5Cosi 3TFTIt 

f4Tezr 

(A) 	B) 	(C) 	(D) 
1.A 	 2. B 
3. C 	 4. D 

.ftkr4T : CIO tO 75 t 78 	1Z 	TT7 

ta-ocio cT2.rt 	1 	4C1ci 	1)41 .1t7 
A A C C 32 

A B C D 25 

B B D D 18 

B D D D 13 

24 21 26 17 88 

ti 
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75. 	The value of A is 
1. 	5 	2. 	7 	3. 	10 	4. 	11 

75. 	ce4vict) 	A 	4)1 	4-11-1 t - 
1. 	5 	2. 	7 	3. 	10 	4. 	11 

76. 	The value of B is 
1. 	5 	2. 	7 	3. 	14 	4. 	12 

76. ceiulch B MI 411-1 't - 
1. 	5 	2. 	7 	3. 	14 	4. 	12 

77. The value of D is 
1. 7 	2. 	11 	3. 	15 	4. 	2 

77. 	cquict) D CPI 411'1 * - 

1. 	7 	2. 	11 	3. 	15 	4. 	2 
78. 	The value of C is 

1. 	7 	2. 	10 	3. 	11 	4. 	8 
-1.  78. 	ckhiich C 	flI•1 * - 

1. 	7 	2. 	10 	3. 	11 	4. 	8 

79. 	How many triangles are there in the figure. ---d-4 -Tit 79. 	31T# f+fil-p t 

M1511161&. km Arm - 
IP PrA ra p Pr. A id al 

	

1. 	18 	 2. 	21 

	

3. 19 	 4. 20 

	

1. 	18 	 2. 	21 

	

3. 19 	 4. 20 
80. 	A clock seen through a mirror shows quarter 

past three. What is the correct time shown by 
the clock? 
1. 	9:45 	 2. 	9:15 
3. 	8:45 	 4. 	3:15 

80. 	Bch 	Elf 	ct)) 	-TtuT I 	& IR 	9-1217:1 	'1c11 
0)-1 	ftZ;IT 	k-ii 	* I 	-Eli 	f -Tit 	*14-1L1 	crq I 
t? 
1. 	9:45 	 2. 	9:15 
3. 8:45 	 4. 3:15 

Directions for question no. 81 to 90 
There are two sets of figures. 	One set is of 
problem 	figures 	while 	the 	other 	is 	of answer 
figures. In problem figure there is a series, but one 
figure is missing. Find out that figure in the four 
alternatives. 

Tht4T : A0 .#0 81 t 90 cict) ." f .c I 
31-1---ed-zt 	-). 	Ti-116- 	fkq- 	Trq. 	* I 	c.t, 	Ti-lx 

'19.MI 	3Fed-Z11  '--r * c -  IT V-kl 	'-c1" .3f< 

4)1 	* '(11-1 1 	31-retLc.h 	5)-ufr 	# 	t 	* I 	'cr)  
31T-Tit TTf * I \3-c1k 3Tret 4 t 06 TTE 31Tfi 
V cl 0)‘<) fTfi).  '1'-I "'lI Tip ri 6) vi N I 

81. 	Problem figure 81. 	•14-ft,z-11 	I 

? ? 
Answer figure \ -c-i. 	3-ret 

1 	2 	3 	4 1 	2 	3 	4 
82. Problem figure 82. 314-N-q1 3TrEft I 

. I. c.-  • 
*I 

I . • r-N ? • 
Answer figure \3-ci, 
( • 

• 1 

• 

( .1 1 I.  
1 2 3 	4 1 

83. Problem figure 83. ,14-1.M1 3-T1Tit I 

/ A A A ? / A L ? 
Answer figure 3-(-N 31T-Ti 

AAAA AAAA 1 	2 	3 	4 1 	2 	3 	4 
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84. 	Problem figure 84. 	1-1 4-N-1 31710.  I 

Answer figure 3-c-k 3:Fp 

1 2 3 4 1 2 3 4 

85. Problem figure 85.  ,d.-N-1 I 31-71 I 

A 
0 OA 0 A AO ? A OA 0 A  AO ? 

Answer figure \3-c-k 311,pf 

0 A 
NOAN 

0 0 
is 
0 

0 
A 

A A. 
0 0 

1 2 3 4 1 2 3 4 

86.  Problem figure 86. fl4-I'M I 341Tft I 

Answer figure \3-c-k 3f1T-f .  

1 2 3 4 1 2 3 4 

87. Problem figure 87. 14-1•MI 31-1-& I 

Answer figure 

-6 
i 

ed* ,,-- -6- -6 e?..;• ,c ,- -6- 
2 3 4 1 2 3 

88. Problem figure 88. 14-k- -11 347ft I 

( 4 Y ? Q r 4 Y ? 
Answer figure 33-ck 3TI-0.  

1 2 3 4 1 2 3 4 

89. Problem figure 89. -H-N--11 3171-0 I 
0 

A+ 
o 

A 
0 
0 + 

0 
0 + 
A 

0 + 
A 
0 

? 
0

A+ 

0 

A
() 
0 + 

0
0 + 
A 

0
A

+ 

0 
? 

Answer figure \3rN 3Thet 
A 
0 
0 

A 
0 
0 + 

A 

0 
0++0+ 

A 

0 

A 
0 
0 

A 
0 
0 + 

A 

0 
0++0+ 

A 

El 
1 2 3 4 1 2 3 4 

90. Problem figure 90. ‘14-k--11 ar-if I 

1 I 

_ 

I A[ OA ? 
11 L A  OA ? 

Answer figure \ri'34-1- 

00 OA AO 0 00 OA AO 0 
1 	2 	3 	4 1 	2 	3 	4 
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SCHOLOASTIC APTITUDE TEST (SAT) 
/fif4-  ThTtic r Ittur 

(QUESTION NO. 91 - 180) 
(50-t tk-q41 91 - 180) 

91. Vijay is pushing the box from right to left. The 
force of friction will act on box. 
1. From right to left 
2. From left to right 
3. Vertically downward 
4. Vertically upward 

91. . faWf 	ct-) •-ii,ct) co 	qi 	ti ii. z.T--F 'M t I 
t4 	ul GM *-iel,ct) tH -171 f4711. 14 M-1-4 cl) ,11 - 
1. qH.1 t 1i4 
2. Glk) T).  q0 

3. c,11cicl 	-1)-r-) 	c-61 31)7 
4. (11-Glcict .T1T7 	31)7 

92. Earthquake 	produce what 	kind 	of sound 
before the main shock wave begin? 
1. Ultrasonic Sound 	2. lnfrasound 
3. Audible Sound 	4. No Sound 

92.TIC-04 3TTEIMR-Itc01 31T4 t ti  '1-1MPcf t 

f --Ri wok 4 w1:4 3c-q^1 tth *? 
trTiat 	 31T31-af z4f4 1. 	 2.  

3. 	31-d:fz 	4. 	ciN z4f .  -1g1 
93. Solar cell works based on 

1. Laser technology 
2. Photo conduction 
3. Thermal emission 
4. Tyndall effect 

93. ,t-lis< 	•1(-1 	Th-Tzi 	f4-14 	*-1 	# 	t 	itTi 	Mct,i't 
3TTUFftff -g - 
1. 	c)vk 0(444) 	2. 	MchIPIct) -Ellrict) 
3. 	-1541-zi k3c -14.1 	4. 	ff3-F Crlirg 

94. The 	vibration 	or 	the 	pressure 	variations 
inside 	the 	inner 	ear 	are 	converted 	into 
electrical signals by the 
1. Cochlea 
2. Tympanic membrane 
3. Pinna 
4. Anvil 

94. 3T1tftcp 	ct.)1-1 14 	cbl-q.1 	TIT 	q161 	LiRcR-1,1) 	ct)) 
ffElff ,-icciI - f+---{ 	TAT iiqc11 viml t? 
1. cOulicid 
2. cPul 17-6.  ftl-Al 
3. ---131 	Licreici 
4. fk-611 

95. 	When 	a 	piece 	of 	plastic 	become 	+vely 
charged it has :- 
1. Gained Electrons 
2. Lost Electrons 
3. Gained protons 
4. Lost Protons 

95. kiiGi 	.) 	Lk,i1R-tcp 	A7 	sc.1 	q.-11 	Dm 	6)01 

t 	cItsi 	-16 

1. *())40-1 	ct)) 	il,-cl 	ct)'<c11 	t I 

2. *e)c1-0-1 co) AkTd"T * I 

3. AMY- co) qit-ci cw<c-II t I 

4. A -e-iff ci.)) -65)--cdr tl 
96. What is the angle between the incident and 

reflected rays when a ray of light is incident 

normally on a plane mirror? 

	

1. 90° 	 2. 45° 

	

3. 	180° 	 4. 0° 

96. Lq 	flliciel 	-17ri 	117 	VIG1 	Ct)) 	Mct'll 	4 

ft-R-ur 	aTM--6-1 	1:R 	3171-ftff 	tth 

31Tciffi-ff ff+--Tur 4 k-NiciWi f+-vur * fm # 
--)1T1- 	ctql 	6)411? 
1. 90° 	 2. 45° 
3. 	180° 	 4. 0° 

97. Technique used by bats to find their way or to 
locate food is :- 
1. SONAR 
2. RADAR 
3. Echolocation 
4. Flapping 

97. ci 	cictAcp 	-1:-RT 	* 	TRT 	z44-1111 	3719-1 

1,M1•71-1- 1-1'Vff ;111 r c1)() * - 
1. •d).-1 k 
2. \sk 
3. Afd.zer-71-Q4T 
4. t-t.)51-01c,t) 
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9 

A 

Liquid is filled in three vessels of different 
types upto the same height as shown in the a 
box figure. PA, PB  and Pc  are the pressure at 
point A, B and C respectively. Find which 
option is correct? 
1. PA  > PB > Pc 	2. PA  = Pe  = Pc  

3. PC  > PB > PA 	4. PB  > PA > PC 

Which part of the eye controls the amount o 
light entering in the eye 
1. Cornea 	 2. Iris 
3. Pupil 	 4. Ciliary Muscle 

100. One light year corresponds to :- 
1. 3.11 x108  km 	2. 9.46 x 1012  km 
3. 4.82 x 1012  km 	4. 6.93 x 1016  km 

101. Technique used to absorb noise by using soft 

and porous surface is called :- 

1. Acoustic protection 2. Refraction 

3. Absorption 	4. Reverberation 

	

34--J4-r - 3T T 31-1WIR- 	-4-4- 1 

-) 6) 	Oct) TT Trzir 
-r4-.-S31( A, B, 3117 C 

s1)+-1 l: PA, PB 	PC 	1 	 4)1.1 fll 

I 
1. PA > PB > PC 	2. PA PB = PC 
3. Pc >  PB > PA 	4. PB > PA > PC  

99 ')%1 --1-" - 1 chl X114-Trrr 	-c0zr 

ci-)'1 clic) 	 c4,1141)c1 	- 

1. c4-1PL11 	 2. LiRcliRc.t) 

3. 	 4. .41-11 

100. pct VWFTT 	cf)1 c c 4 	:- 
1. 3.11 x 108  km 	2. 9.46 x 1012  km 
3. 4.82  x 1012  km 	4. 6.93 x 1016  km  

101. c1 c14,414 	-gTRT 	c1,1 1j--JrzFr 
vff 	 31-q-erRTff f+-TIT 

t 
1. z.41 31-471ThquT Ta-TT 2. 3T-cf--9- 

3.31-4-`4-hfuT 	 4. 

h99. 

98. 

  

 

  

  

A 	B 

102. The power of a convex lense whose focal 
length is 0.2m is:- 
1. + 5D 	2. - 5D 	3. + 2D 	4. - 2D 

103. Which fuel has highest calorific value? 
1. Coal 	 2. Kerosene 
3. Diesel 	 4. CNG 

104. Which of the following gas turns lime water 
milky? 
1. CO 	2. CH4 	3. CO2 	4. NO2  

105. Which of the following nutrient is needed for 
growth and maintenance of out body? 
1. Carbohydrates 	2. Vitamin - A 
3. Protein 	 4. Calcium 

102. '(-t) 3-c1Q1 c)fl r:31-icbc) 	vr 0.2m 6 , 

-Thr t -1Wf 	 eft I 

1. + 5D 	2. - 5D 	3. + 2D 	4. - 2D 

103. -{t-R-T T ct)l 	 TT4-itl-  6)01 *? 

1. m---4F-r 	 2. c.WR--I-1 

3. tr --F 	 4. 	A 

104. 1 1--1i1ct # 	T\ -(ft 4N-1 	Errt 

c.1-)1 	I Sf4z17 ct-r -e-01 

1. CO 	2. CH4 	3. 002 	4. NO2  

105. i4--ifiZqo 14 -R4 	 occi Tcrit 7117 

rg 3117 NT-am* -f7 34-m7-zi-T 

1. c.0161161t 	2. ftA--f - A 

3. -cr\rer9- 	 4. ct)f-141 

106. The acid present in vinegar is : 
1. Citric Acid 	2. Acetic Acid 
3. Tartaric Acid 	4. Oxalic Acid 

106. 	.14 31-4-ft2M-  3-11 f eic-11 	: 

1. 

3. 

107. Beri - Beri is caused due to deficiency of 

3. Vitamin C 

1. Vitamin A 2. Vitamin B 

4. Vitamin D 

2. TiTOc-T 3.11 1 

tIc R 	31-1 F 4. 

ril1-1(4.) 	41I 

A 2. 

itA--f C 4. 

t 	ch 31-1 f 

31--1-4ti-ra 34-4 1 

311-TT4 	6)c-11 

{ 	1tlf1-1 B 

f1t41 	D 
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108. Which of the following process is an example 
of physical change? 
1. Crystallization 	2. Combustion 
3. Galvanization 	4. Rusting 

108. tff6-ftfiff 	# 	t 	(4-1,1 	A) 	.STitzTT 	'4-tlf'd--  
t-iRuck WT \q16'01 t? 
1. 	4 ,-tel)cui 	2. 	q.-1  1) 
3. 	tiTM" 	1:1-9- 	4. 	‘3141 	01,1-11 

109. The 	synthetic 	fibre 	used 	for 	making 
parachutes Is 
1. Nylon 	 2. 	Polyester 
3. Acrylic 	 4. Teflon 

109. fi--11cY (Zgc-i # -# c61.1 TiT 'T--fl:r 	ll  il-R-inz 

q9-14 .4 1:rg- f 61di t I 
1. 	-liqd-I-I 	2. 	(-1-1clVt 

3. 	 4. 	t1TT9.1  
110. Which of the following cannot be beaten into 

thin sheets? 
1. Zinc 	 2. 	Iron 
3. Coo •er 	 4. Sulphur 

110. 	fkl" 	-4 	t 	-14) 1 ct)) 	LI) t.C. 	1:1-d-A. 	.1-q sI 	A 
LiRciWt 	r+-71-r 7r .ocpcii t.? 
1. 	f4- 	2. 	x1161 	3. 	ct;IV 	4. 	ic,4-t-r 

111. In 	the 	process 	of 	galvanisation 	iron 	is 
deposited by a layer of 
1. Sodium 	 2. Zinc 
3. Copper 	 4. Calcium 

"7:41-q 111. 	.1:19' 	'rift -4T 14 	(1  

4 t-Nd 	T-4 w--O'r * I 
1. 	'fl)fL14-1 	2. 	r4T  
3. 	ct-;iti 	 4. 	ct)flq1 

112. The polymer used for non-stick coating on 
cookware's is 
1. Teflon 	 2. 	Nylon 
3. Polythene 	4. 	Bakelite 

112. 	1 -4 1. 14 t 0.-1 	-i-f -q-g----6-T.  Zvi -1 EITT-4 clic) 

-4)- .crr- 	t 	.9- 	Dt-lco.) 	qrt 	t.Nci 	evil.) 
-g-g- r ft-Err ,iicir t-  I 
1.t1:19- 	 2. 	-i1z401.1 
3. 	'crea21)-9- 	4. 	di*c 

113. For 	rusting, 	the 	essential 	conditions 	are, 
presence of : 
1. Water only 
2. Oxygen only 
3. Water and oxygen both 
4. Neither water nor oxygen 

113. 	PT (1414 	fkT 4 ....trft2T-ft 3e4-41-4 t I 
1. cciei 	k3-tei 	4 
2. cci 0/ 3 #4\11179-  4 
3. vie 	ci 3T-1-4tIV9-  ql--II 4 
4. .9T vief 4, 	--f 3rMtR-9* 4 

114. Select the irrigation system in which water 
falls drop by drop near roots of plants. 
1. Sprinkler system 	2. Moat system 
3. Dhekli system 	4. Drip system 

114. 	ft4W 	c-I-4 Thl.  5.) f --i-{34 viei slq-1q 
ci.) tilzt-  4 kJ-14 TR fi.R--d-r t I 

).clAci 	 t--  1. 	1 	clef 	2. 	41) 

 3. 	tTh---A civi 	4. 	f0:1 
115. A crop of which plantlets are transplanted in 

field is 
1. Wheat 	 2. Paddy 
3. Gram 	 4. Pea 

115. Bch 	4.)-1(1 	ftRT# 	'ENT 	ch) 	4ff 	f 	tfec1.  
f -z:rr vtiot * cI6 t 
1. 	4)( 	2. 	UM- 	3. 	21T11 	4. 

116. A human cell which can change its shape Is 

1, White blood cells 

2. Red blood cells 

3. Nerve cell 

4. Amoeba 	 - 

116. 	Bch 	411.141e4 	chlftchl 	k3i1 3117t 3Tret .q----6.  
Tf"--t *, c.l 	* I 
1. -z-4ff -R--4r co)Dichlq 
2. did 	c.t-c-1 	ch)DicPRI 
3. tfTh-T ct))Pict-)i 

• 4. 	3171E4T 
117. Which 	of 	the 	following 	pair 	belongs 	to 

prokaryotic group? 
1. bacteria and Blue green algae 
2. yeast and amoeba 
3. Hydra and paramecium 
4. penicillium and Rhizopus 	' 

117. 	1-4---f # t 	41.-1 	TiT 	ui 	i 	1:11Th'ffzItth TITX 
4)1 \iql5ul t? 
1 
	-11-41u1 30 	6 	-q1-4M 

2. zirR 	30 3T41-41- 
3. 6I*1 	311-R- 	14)1.41L1-1 
4.Itl)Dzi4-1 30 	l*kyl)k-Ni 
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2. Pseudopodia 
4. Bud 

locomotory function? 
1. Flagella 
3. Cilia 

2. -1:411Tuj 

4. cbc1c1) 

121. v1--4\f 41 T  ut) cbclel TWEd-T ch)DIchl 

u-1-1-1 (-Mc) t, C16 t 

1. 11-41-uj 

3. tl-4M 

2. i)r. A1-14-1 

4. 

122. Bch 	')c.1*))P1 	cl-K14-) 	 t 

1. 	'13-1)t-N-1 

3 flk 

x ( 49 9  ( 6 V+4  = 
36J\7)   

2 1 . - 
4 

4. 5 

118. Correct definition of Tissue is 
1. Group of similar cells performing specific 

function 
2. Group of similar cells performing different 

functions 
3. Different cells performing different 

functions 
4. A cell performing all functions 

118. 6')c1c1-) -11' Tit trR4-Trizfr 

1. Lct) s14-11.-1 ct-))1)14)13# 4)1 Tir-X Q-11 

RDitt 	c1->c11 t I 

2. L -) 	ch DI (-1-Off cb 	I Ti-V Q-1) 

t I 

3. ci-))D1c01 	c-11 

4. Bch ct)V414)1 v1) Tit 	 t 
119. Which of the following does not have 119. 1 -;[ 	r4)flc1)1 Tierzf 

1. 'T&-ITIPT 	 2. 774-PT 

3. 41. -11 	 4. 

120. Common method of preserving milk is 
1. Vaccination 	2. Fermentation 
3. Pasteurisation 	4. Fixation 

120. V EffaTur   fai4 t I 

1. cqc1-)Ict-rOJI 	2. fa)uc1.-I 

3. 1-1-14c-Mul 	4. R-P-TuT" 

121. Group of organisms which only reproduces 
inside a host cell. 
1. Bacteria 	 2. Virus 
3. Algae 	 4. Fungi 

122. One unicellular fungi is 
1. Rhizopus 	 2. Penicillium 
3. Aspergillus 	4. Yeast 

123. The nucleus of sperm is located in its 
1. Middle piece 	2. Tail region 
3. Head region 	4. Neck region 

123. Js 1c 	cf).-  ct) 	I 	1 

1. l'faf qm-r 	2. 	4-1TTT 

3. ft7 4-1-FT # 	4. 	I 	/MI -44 

124. Sodium Benzoate is a 
1. Antibiotic 	 2. Preservative 
3. Pain killer 	4. Vaccine 

124. s-l)r- -1 4-1 	c-f") 

1. q1 11c 	2. 

3. cc rcINct) 	4. tThT 

125. Deforestation at large scale leads to increase 
in. 

1. Soil fertility 
2. Soil erosion 
3. Soil conservation 
4. All of the above 

125. 	•-c-k 1-k c1-1)-toi 	 1  

-Ott *I 

1. Ts-4-r 	6,1-iutk3 

2. I-4T 311:17T9- 

3. T 

4. c-K-1 

126. What is the value of x, if 

(61` 	r 49 9 	(6 \3-'"  
X 	 =1 

.36)  

1. 	 2. 

1 
3.

1 
 

4 

126. x 4)1 4-11.1 qzfr 61411, 

4 

4. 5 
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I 
127. The side of a square is -(x ± 0 units and its 

3. 2 
	

4. 
2 

\ 12.  
side of square is : 

1. -
3

- 
2 

) units, then the length of 

2. 1 

diagonal is 
/ 5 - x 

 

127. 44 IN) 44 	TAT 	 ak 

ftwat (5-x)F401d4A- T 

1_ 

3. 

3 

2 

2. 

4. 

1 

1 - 
2 

1 
128. The mean of p and - is x, then the mean of 

2. rY 
4. 4(-.4 - 2 

1 
4 
6 

3.
7 

 
II 

- 4 2. 	 
3 

4_ 4 

3 
132. If all the angles in the figure marked are 

equal to each other, then measure of each 
equal angle is 

1. 36° 

2. 30° 

3. 54° 

4. 45° 

130. The ratio of the number of sides of two 
regular polygons. Is 1 : 2 and the ratio of their 
interior angles is 2 : 3. The number of sides 
of both the polygons are. 
1. 4, 8 2. 5, 10 
3. 6, 12 4. 7, 14 

1 	73 
131. If 6 + 	I 	=--- 

11 ' 
then the value of x is : 

1+ ---- 
1 

1+ - 
x 

p 
128. p 3ti - 4f 1-1I u1 A t 	p31 	T 

Tritzi 

1. 	 2. 

3. 2(-t-)-1 	4. 4(x)-2 

129. zit 	 1 tilnitcm 	c l ki att 
4;-.114 t 5bl1n 10%, 20% J1-1,4 30% 

A 	 zl-at t alr-4 	1 --d-4 
A I 
1. 70% 	 2. 71.6% 
3. 81.6% 	 4. 90% 

130. 	t11-1610.4 	 3ITIld 1 2 t 
311 	 3111:11ff 2 3 t1 

41) 4g30 	Mii 
1. 4, 8 	 2. 5, 10 

3. 6, 12 	 4. 7, 14 

73 
131. ziR 6+ 	

1 

1 
=

11 
	co  x 47T 1T1q Ali 

1+-
1  

x 

1_ 

3. 

3 
 

4 
67 

2. 

4_ 

- 4 

3 
4 

3 11 
132. /41-4 	31 -d-  1-111rAul l 

-a a-  Ac 	i11-114 4))11 t'Mg 61+I1 

1.36° 

2. 30° 

3. 54° 

4. 45° 

1+ 

129. If the length, breadth and 
are increased by 10%, 
respectively. What is the 
volume of cuboid? 
1. 70% 	 2. 
3. 81.6% 	 4. 

height of a cubOid 
20% and 30% 

increase % in the 

71.6% 
90% 

  

S127 E0D/17- VIII -2A Page 17 of 24 



133. A certain 
compounded 
2 years 

20 1. 

sum of money at a rate of r% 
annually become Rs. 1440 after 

and Rs_ 1728 after 3 years, then r is: 

% 	2. 20% 	3. 13 % 	4. 10% 
3-  

133. Ty q9il r% zfs ---qi -  
ti q) clti 14 21440 -2TT 

€411\51 1' *Wft 	c,  

A 21725 6) 

4. 10% 

c)-9-  44.  

-1-0't 	c-I) 
20 1. 	% 

r 	chi 	4-11-1 	6)4 11: 

2. 20% 	3. 	13 % 
3 

3 
3 

134. The 

I  

square root 

[X2  + _y2  + z2 ]+ 

1 	
x+y+z 

2 
- 

-
1
+-

1
+-

1 

x 	y 	z _ 	_ 

of 1 

is: 
134. 1 	{X2  + y2 -1- Z2_1+2 

y+ 
y 	z 

+ 
xz 	xy 

xyz x 

1 	1 	1 
-±-±- 

	

y 	z _ 
CM 	qrili& 

:ryz 

. 

6 	4 11 

x+y+z Vx+y+z 
2. Aix+y+z 

3. 	 
\ 

xyz 

x + 	y + 
 

+ 	+ 
yz 	xz 

xyz 

rx+j+-1-z- 
4. 	 

1 . 
xyz - 

x+ 3. 	+ 
yz 

2. 	 
xyz 

I . - 1  r y - F ,.I 
4. 

V xyz -,1 xyz 

135.  

In given 

LAEB. 
1. 40° 
3. 60° 

are two 
bisector of 

135. 

AEBD 	c'1  

LAEB 	4)1 

4CP 40° 

parallelograms 

F 
30° 

E 

figure, ABCD and AEBD 
and EF is angle 

The value of xis - 
2. 80° 
4. 100° 

30° 

F 

E 
ABCD TNT 

* I 	EF, 

'4 1 	4I 	3T1 	4 
•fl41I-c-N qgll-  

* I x 	.1,1 Tfl7ff -'4"fM--  
1. 40° 
3. 60° 

4-II-1 t - 
2. 80° 
4. 100° 

Direction: 
represents the 
students of a 
answer question 

The 	pie 
mode 

school. 
nos 

of 
Study 
136 to 

t 
blop  

diagram 
transport 
the diagram 
137 

DTC Bus 

Private 

Cycle 

I0%

3itTRI9-  

given 	below 
used by 800 

carefully & 

Bus 

-ft-au : t--  e4711- 4  RH -tit r41J f+---ift Ruw4 

800 fkfif4T1I MW -ciz1)IT ft-4 v11.) Ole) LI1c1H-11c1 
c. 	iTizT,,i, 	co)  _q_teur 

-0 136 

IP 	 IA 

411% 

1 	_m_. 	col 	urrq_co_ 
* 

'rM -C10 TI 

111 

t 137 4)1 

tttiti -4-RT 

rfre 	wr 

tii* ci 

3-c-N 	I  

4-4--a• On foot 
136. Number of students using DTC bus. 

	

1. 360 	 2. 216 

	

3. 72 	 4. 480 

136. DTC GM 4)1 W-11 ----4 cite) ftTrOTII 

	

2. 	216 

	

4. 	480 	
_ 

-kszII - 

	

1. 	360 

	

3. 	72 
137. What percent of total students go 'on foot'. 

	

1. 72% 	 2. 50% 

	

3. 36% 	 4. 20% 

137. 44-d-  31-T4 clic) 	ft -a-4, cl3ei 	f47)1Tf4z1-1. 	4)1 

2. 50% 
4. 20% 

f+--d- T mi?iki *? 
1. 72% 
3. 36%  

138. Value of VS+ 2,,d75 48 - 2,115 	upto two 
decimal places is - 	 . 
1. 3.42 	 2. 3.46 

_ 3. 3.44 	 4. 48 

138. V8+2V13-V8-2-115 WI 179.  

t - 
2. 3.46 
4. 48 

‹Neic.1 

-4)-  3W' 4 
1. 3.42 
3. 3.44 
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139. Ratio of areas of three adjacent 	faces of a 
cuboid is 2 : 3 : 4 and its volume is 9000 cm3. 
Measurement of longest side is - 
1. 25cm 	 2. 30cm 
3. 27cm 	 4. 35cm 

139. 	,z1-; 	Eiff171- 	c 	Tt .ftW"-d 	.c 	tb-6-4- 	cti 
&?-1--- 6): 	3111Tid 	2 	: 	3 	: 	4 	* I 	* -ler)1 
3ITTIff9 	9000 te * I -ft iT4tf 4-4- 
VT OA 1-11L1 t - 
1. 	25 -NI 	 2_ 	30 -tit 
3_ 	27 till 	 4. 	35 tt 

140. To pass an exam, a student has to score 
36% marks_ A student scores 171 marks and 
still fails by 63 marks_ Total marks is - 

	

1. 500 	 2. 600 

	

3. 550 	 4. 650 

140. ct) 	OUT 	cI)) 	114 	 -fir 	.)- 
"ftEFT211 cf)) 36% 3-f4-  4 3T-1-41-  * I 	GO 
WITOY 171 aich MIT?i ect)c11 * q 3p-11 .4-fi 63 

-s-6-  3i-4 tr &TA-4 0 .,iicit t 1 	3i-  t - 
1. 500 	 2. 600 
3. 550 	 4. 650 

141. Value of (
y3 +7y2 +10y) : (y2 	y  , _ . 	,z11-1  m 	4is- 

y2 -2y 	 y 2 
+2y 

1. 	 2. 

3  141. 	+7y2  +1 0y)÷(3/2  -Fy-20} cm 4-11-1 t - 

y2 -
2y 

1. 	 2. 	
y2 +2y 

y -4 	 y + 4 

y 2  +2y 	
4. 

y 2  -2y 
3. 

y - 4 	 y + 4 

3 	
y 2  +2y 	 4 y 2  -2y 

. 
y-4 	 y +4 y-4 	 y +4 

142. If 8a2b =rag =216 then value of ab is - 

	

1. 4 	 2.8 

	

3. 6 	 4. 27 

142. Tift 8a2b=27a1>? =210 cl) ab chi liVI * - 

	

1. 4 	 2.8 

	

3. 6 	 4. 27 
143. Average of 11 numbers is 50. If average of 

first six numbers is 49 and average of last six 
numbers is 52. Sixth numbers is - 

	

1. 54 	 2. 56 

	

3. 55 	 4. 57 

143. 11 	\L-R9-41311 chr 31Thifj 50 * I -44 V2-11cf 1§: 
\L1tcL11311. 	cbl 	AT-d- 	49 -d-2-TT 	3Tic i 	13: 

-cz1131-I 4)1 31Ui-d-  52 0 th wer \Lit.q.ir  * - 

	

1. 	54 	 2. 	56 

	

3. 	55 	 4. 	57 

	

144. The 	sum 	of 	seven 	consecutive 	natural 
numbers is 1617_ How many of these are 
prime? 

_ 	 .  1 	2 	 2 4 

	

3. 5 	 4_ 7 

144. TIT is 	c1411cIN 	qi-pff 	\1s liar 4)1 Ti\FT 	1617 
* I +0A1 3f4TFRE \LiCq14 t? 

	

1. 	2 	 2. 	4 

	

3. 	5 	 4. 	7 
145. How many rotations are taken by smaller 

circle to return to point A again, moving along 
the boundary of larger circle. 

1.4 

2. 	16 	 4r 

145. f -  413-1-cf qd, 4a cjo cb -r+-9-ft t-N --cleic) 
V WA-  rict-c 	cl,IN4 11 	-q-f* 	R-- 	A 
ti "ZI- 	cf)c) 	-4TRIRT -ft-- 	A 	3TMT 
6) I 
1. 4 	 4r 

3. 8 

4. 64 A 

2. 16 
3. 8 
4. 64 

146. Dholavira was divided into how many parts? 

	

1. 	2 	 2. 	3 

	

3. 4 	 4. 5 

146. a-6FiRT -14K c.t 	f+-d-4 qTrall 14 "(TZT 71-4T 211? 

	

1. 	2 	 2. 	3 

	

3. 	4 	 4. 	5 
147. Panini 	prepared 	grammar 	for 	which 

language? 
1. Sanskrit 	 2. 	Hindi 
3. Tamil 	 4. Telugu 

-- 1-  147_ 	-c1FPF 	-4 -f ---1- 	quEn. c 	cLitcur 	-,.4---11 

a? 
1. 	- 4-T-V-ff 	 2. 	 -1 ---1-  
3. 	-414-6- 	 4 

Page 19 of 24 



148_ Vasco da Gama was sailor of which country? 
t Britain 	 2_ France 
3_ Germany 	 4_ Portugal 

148. 	413`M-1-1-111 4-11 -r ---fl- -4'41-  4)1 -ffTf-4- 	2TT? 

1_ 	W9- 	 2. 	Thte 

3_ 	W4441- 	 4_ 	TO-11-M.  

149_ In which year British gained control of Delhi 
of defeating Marathas? 

	

1. 1802 	 2. 1803 

	

3. 1804 	 4. 1805 

149.3f41-4 	TRI-61 	cr-)) 	, Ic-trZ 	-lr----A- 	1:R 

PizEiri -Wil-  citi F+-zi-r? 

	

1. 	1802 	 2. 	1803  

	

3. 	1804 	 4. 	1805 

150.. Who is the author of Meghdut? 
1_ Bannbhatt 	2. Vishnubhatt 
3_ Ravidas 	 4. Kalidas 

150. -14EIV 	,?-c1111cON 01 

1. 	-411741dZ 	 2. 	ft9.41- 
3. 	41<N-I 	 4. 	(1-)111\1-1 

151_ Who is known as Napolean of India? 
1_ Ranigupt 	 2_ Samudragupt 
3_ Chandragupt 	4. Vishnugupt 

‘3-1Rdr 151. * 	-)11)1/4-r 	c. 	-11 4-1 	cle)-1 	vi1-11 

kYlIc11 t? 

1. 	.1194Aid 	 2. 	\1-1q 41 -c-1 

3. 	-cl-q 4Alci 	 4. 	1i9T-c1  
152_ When was the permanent settlement system 

of revenue was introduced in India? 

	

1. 1760 	 2. 1857 

	

3.. 1765 	 4. 1793 

152. 3-TRU 	A 	-P_It 	-----4)--4-- 	4 	, i,,-k-ci 	quITA 

4)61 e11 41, A q? 
1_ 	1760 	 2. 	1857 

3_ 	1765 	 4. 	1793 

153. Who was the first woman to rule Delhi 
Sultanat? 
1_ Gazia 	 2_ Chennama 
3_ Laxmi Bai 	 4. Raziya 

153_ r.4- 1- ,6ev1-1c1 4 Er-01 lif'8-0 	11\9(t) 0-1- 

2ft? 

TlizIT 	 *9-Pi 1. 	 2. 	T  
3. 	ff11-41 	 4. 	- itz:11- 

_ 154_ Kalinga's present name is 154 1WTT 	--r 4-diir9 --wi 	 * I 
t Vijay Nagar 	2. Orissa 
3_ Tamil Nadu 	4. Bengal 

1_ 	%3-ILI-1 4 1 	 2. 	31=f1 

3_ 	caci-lIt 	4. 	61 4 11Q-1 

155_ Writer of book Poverty and Lin-British Rule in 
India is  

155. rflea 	\41J 	3-N-ffiftc4 	\L9Q-I 	*-1 	--rr- zIT 

* --E1--. 	chl 	-114-i   1 
1_ Mahatma Gandhi 
2_ Jawahar Lal Nehru 
3. Bat Gangadhar Tilak 
4_ Dadabhai Naoroji 

1. 4-11c-4-11 TM  
2. uic116 	(-Het 	-)6 \',) 

3. 	-416.  *TIM- -ft-6-- 

4: 	T41'4TT4 -91R)--4 

1 156_ Which of the following minerals is the source 
1 	of silicon used in computer Industry? 

t Manganese 	2. Limestone 
3. Quartz 	 4. Mica 

F'  

156. 	ct;t-V., 	3-&-IT 4 ml---- 	61.) 	cmi 	R-iict)i 
r+-T-T 	i'4- 	t 	rti-  61ci1 *? 
1. 	44 1-N1 	 2. 	1.11 11T-QTR.  

3. 	11-- 	 4. 	3RIct) 

157_ The 	medicine 	diclofenac 	is 	used 	as 	a 
• painkiller to treat the livestock. The use of 

this medicine is causing the extinction of :- 
1_ Pigeons 	 2. Vultures 
a Peacocks 	 4_ Bats 

157. 	1:-M3tt iz 	‘311 -r-IN -44 TRI)-T1-  4 	vii-) -qi-A.  ,icii 
fcl-Q-11P)-Ict) 	kt-H-1) 4 1 	t 	-f -R-i- 	-4 	cpi 
31-Wf 	Tfi-d--  -4 t-I 	4  H-1 I 	? 

1. 	-n-th 	 2. 	-144 

3. 	1=1R 	 4. 	-c-4 4-1 411\.4 

158_ Which of the following crops is not grown 
under plantation farming? 
1_ Coffee 	 2. Cashew 
3_ Rubber 	 4_ Rice 

158. 	-1-4---ii 	,t_qc-i 	14tf 	c-P-1----1 	'1 /41-1) 	4.Pk1 M 	)--/Tul- 

-- 3I44 1:1 	.3411 	-9ef 	{01? 
1. 	cribcii 	 2. 	K-1., 

3. 	 4. 4. 	ti 1 ciT 
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163. 

159. Which of the following facts is not correct 
regarding warm and cold currents? 
1. The areas where warm and cold currents 

meet experience foggy weather. 
2. Warm currents originate near poles and 

cold currents originate near equator. 
3. The places where warm and cold currents 

meet are difficult for navigation. 
4. The area where warm and cold currents 

meet are good for fishing grounds. 

159. -1'41 9-  4 	 sdt 	,1 4-1 

cf) 	4 Ter 	g? 
1. 414 31-R- 	 3tt 

a)-t y1 ch i clloi -INTr 61-1c11 

2. 414 q-rTrq 	 3 	aruQ 

Trui - rur 	 erth 

3. ul i 414 3N 	UFO Prdt * ci 

4W-TF \30-1-1 erth 	I 
4. u16-1 14 3 	zITTfq 

\3K-I4-f &-)- 	6)c) t I 
1160. Manali-Leh highway does not cross which of 

the following passes? 
1. Rohtang La 	2. Baralacha La 
3. Tanglang La 	4. Nathu La  

160. 	 lu14-1141, f4if 	ftTi 	 

61ct,  
1. ,kcii41 Ml 

3. t4 1Q1 4 1 MI 

2. 61klril-c-11 ril 
4. 1T MI 

161 Mushroom rocks are formed due to the action 
of which of the following agents 
1. Winds 	 2. Wave 
3. River 	 4. Glacier  

161. u-)14,  t1---dfch I fiLriu-r, 	-Zqc-1 	t 

cl-)Nct,  gr-Tr f -Tfr ,-Hot 

1. -cra4 	 2. cla 

3. 	 4. 1 41-11q 

162. Which of the following is a ubiquitous 
resource? 
1. Iron Ore 	 2. Forests 
3. Air 	 4. Petroleum  

162. 1 4---fig6c-i 4 tr $1.1 \LH 

1. dlo sT-Er 	2. cfrf 

3. 411 	 4. t)OR-R14-1 

163. What is the name of Indian research station 
in Antarctica. 
1. Himani 	 2. Maitri 
3. Gayatri 	 4. Yamunotri  

ITRO)74 71)V --1'0-TM cl-)1 -114-1 

2. 

4. z110-11- 

164. Grasslands are known by different names in 
different regions. Some of these names are 
given below. Which of the following pairs is 
incorrect :- 
1. Australia - Savanna 
2. Southern Africa - Veldt 
3. North America - Prairies 
4. Central Asia - Steppe  

164. f4Pr- 	4 -Elm 	faf - 
	 t1 	 9T4 	r4-R 	gi 

-4 $1-1 	Ter 	:- 
1. - ,-1c11-11 

2. I 311SrTh-T - rs 
3. 3114fT - 

4. WI 	- 

165. Mt. Fujiyama in Japan is an example of which 
of the following types of mountain 
1. Fold Mountain 	2. Block Mountain 
3. Volcanic Mountain 4. Mountain Range 

165. u1IL11-1 (4)1 IVPLII4-11 1T4ff 
Mcl-)k c -Off 4)1 \3q16 ,-,1 t? 
1. qf -d- 	c 	2. "lj-TI -cam 74-ff 
3. uclic-Ilta ultd 	4. 11-4d 4:11.1 

166. 'Political Democracy' means - 
1. The right to speech 
2. The right to get education 
3. The right to attend public meetings 
4. The right to vote, speech and contest in 

election. 

166. 	 (-1)cbck' chi 31-21 	- 

1. liftsfuT 	4)1 
2. ftfa-TT 11T4 4)1 3 

3. u1-1 il-TT3t1 	--crft-P--m-  614 cm 31- 
4. cI)t 	7-1-71u1 	1-11c1 ei 	4)1 

3TRIWIR- 
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167. Present Secretary General of 'United Nation' 
(UN) is - 
1. Antonio Guterres 
2. Ban Ki Moon 
3. Boutros Boutros Ghali 
4. Kofi Annan 

'-#zpr 167. 	-UK 	\'-iq' 	(UN) 	-4-41:11ff 4-16N1Ac1 

g - 
1. ‘-tlf)_41 	ttt ,,-r 
2. 61I-1 4 T-I 
3. Td7R:f - cd7f1 "Efft 
4. Wr y  31--- 

168. Form which article of the constitution states 
that 'untouchability' has been abolished? 
1. Article 16 
2. Article 17 
3. Article 18 
4. Article 19 

168. 	ttftU1-9. 	c 	f 	31----- q- 	3T-1TR 
31- 74-ar zir wm-so col .3.-491-1 ft-zir ,ril 
-qc01 	? 

1. 	31-1--q-  16 	2. 	31-- 6-q 17 

3. 	31-----4 18 	4. 	31-1- q-  19 
169. Who 	is 	the 	Political 	Head 	of 	Municipal 

Corporation? t? 
1. Mayor 	 2. Chairman 
3. Sarpanch 	4. Councilor 

'--14k 169. 	F4171' 	uhf 	IkY1 1 	ct) 	3:1171 -$)-- 	6)01 

1)-zi7 1. 	 2. 	-aW)-I  
3. 	\Lkt-i-cf 	 4. 	ITE-Ek 

170. 	is a system of government in which 170.  	if -Riffr 
the the 	power 	is 	divided 	between 	a 	central 
Authority and various constituent units of the 
country. 
1. Secularism 
2. Communism 
3. Federalism 
4. None of the above 

31173fr-4-  faf4 -  31F-Tiff 	- qz11 

Al . 	..ld  

1. UT=n7-4a1-0Thiq 

2. fl14- -1cIlq 

3. \LI-IcIlq 

4. \3k-k)(4\-1 14 t c-t)) 

171. A few Gram Panchayats are group together 
to form is usually called 	 . 

171. Ty -glii 	t-i-c1Ricl 	-) 	-ffrzT 	rich 	4)601 

.g 	  
1. Panchayat Samiti 	2. Mandal 
3. Block 	 4. All of the above 1. 	Li-c4Hicf -fl#n- 	2. 	4-i5ei 

3. 	Ec-11 ct) 	 4. 	_ik-1 	c,1\-1 	TE'41 

172. Modern Democracy began from 	. 172. 3fTgP M1cl-)d-)1 4 -u- 31-1-ff 
1. Europe 	 2. Asia 
3. Africa 	 4. Australia 

1 	. Ttcr 	 2. 	rf0-fzfr 

3. 	3PCbct- 	 4. 	3tk&-r6-4r 
173. "Right to free and Compulsory Education Act" 

was passed in - 

	

1. 2006 	 2. 2009 

	

3. 2010 	 4. 2012 

"f-: 173. 	c 	311-R- 	3TR-apj 	qm- 	plan. 	cot  

' , 	3Tf4ftali cp1  turfr -g3TP 

1. 	2006 	 2. 	2009  
3. 	2010 	 4. 	2012 

174. The 	facilities 	of 	Doctors, 	medicines 	and 
hospitals in villages / cities are provided by 

	

governments. 	Why these 	are 	known 	as 
'Public Services'? 
1. Because it is government 
2. Because it is only for government people 
3. Because these facilities are for all. 
4. Because government is spending money 

of them 

174. 	4 1-lci /T--6R A .51c-ft, qc.4 .d-P-TT WcRIT-d- -ct 

VtIT 	1Nc.1-)k 	-0Tr 	t 	w-O'r 	ti 	* -ic, ) 
\Lilciu-Pcil' 4741 ci-)6C1 t? 

1. qzrl-f 	Tro-  •1kcp1,1 t 1 

2. 4R:111 	'6 	cc-1-- 	flc.ta 	c .)711- 	f 

t I 

3. c-V-fr 	zff 	j-rdUT s-issict) f" 	* I 
4. 47M-) *-I L-4 -  s:1 (-Pk 	-1-9-U1-4 	Tei * Li  
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V 

175. A movement that began in USA in 1950 in 
which African - American people demanded 
their 	equal 	rights 	and 	end 	to 	racial 
discrimination called - 
1. Civil Right Movement - 1964 

2. Champaran Satyagrah Movement - 1917 

3. Civil Disobedient Movement - 1930 

4. African - American Women Movement - 
1764 

175. 1ch 	, 	k3-1) 	TigfVFTIT 	3A-Rwr 14 

1950 	qIct) 	3TT 14 "U-.  piT 	A 

f=-4 3W1-  - 3#0-wff A411 	--k-o J10 

ITT c1)) 	,14-11t-c1 	chi.) 3N-  s14-II.-1 3114Wit 
41141 	cl? 

1. 	-114 10th 31-f4wR-  3 	- 1964 
2. 	-c.114-11•01 	- 	1917 

4  3. -11 1Rci) 31-40- 	- 1930  
4. 3fiCbt4-  - 31-4R-W9.  lift6-r 

1764 
176. Which one of the following is a localised 

resource? 
1. 	Air 	 2. 	Soil 
3. Water 	 4. Iron 

176. 	f -lf 14 -t 4)1-1 	\'-II 	-2,-Trfirzi TiT1T-1-9.  t? 
1. 	qT?j 	 2. 	TT 
3. 	ITT-41 	 4. 	c,1)61 

177. Size of an Industry does not depend upon - 
1. Place of Situation 
2. Number of Employees 
3. Volume of Production 
4. Capital Investment 

177. 371)11 cPI 3T-WR- .1* 9-6i ct-)cll t - 
1. ft,-)-- 	iN 

2. 4)4-1-c1IN1 	ch`) 	,-k.-q-11 	*Lk 
3. \30-11q-1 	3T-F- R 4N 
4. 1:01- -144t4T Lk 

178. Which of the following is not an example of a 
co-operative sector? 
1. Co-optex 
2. Mother Dairy 
3. Anand Milk Union Limited 
4. Maruti Udhyog 

178. -RIF 	4 	0-1 	\1-16cta&-) 	ct-d 	3q1ul 

-jef *? 
1. 3Tli  
2. Icfq-R.  tRit 
3. 31--  P1--- 	VRF i-wa. 
4. TIM-ft 37111T 

179. At present, which currency note is out of 
circulation in India? 

	

1. 2100 	 2. Z500 

	

3. 21000 	 4. Option 2 & 3 both 

179. 	'411R-d- -44, 4-dliT9.  14 ctl-i 	\,11 	9-A --qi-  z4c,i-i t 
-f-O-R. 	? 

1. 	Z100 	 2. Z500  
3. 	21000 	 4. -ft--Vzf 2 q 3 q -I).  

180. Which is the largest commercial 	bank of 
India? 

	

1. 	R.B.I. 	 2. 	S.B.I. 

	

3. 	P.N.B. 	 4. 	I.C.I.C.I. 

180. '41-Rd-  V -RT-qt q-1-  clIPIRT-qc-t) t c01-1 TIT 
t? 

	

1. 	R.B.I. 	 2. 	S.B.I. 

	

3. 	P.N.B. 	 4. 	I.C.I.C.I. 
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